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x 12
< L
[
Y L
> 1-
(8] -
< L
9]
3 L
£ 0.8 b
(0]
0.6 -t At
0.4
0.2 - gt e i
OJ-"-G_ } } II‘IIII } } I
= I | —— DQM_v0001_R000000001__ Global__mkFit_baseline
@ 1f- - —"— DQM_V0001_RO000000001__Global__ CMSSW_X_Y_Z_ RECO

107° 1072 107 1
TP min AR

[ Efficiency vs dr (track,jet) |
§ 0.2
0 0.18F
= E
o
z 0.16F
20.14F
> o
20.12F
0.1F
0.08F
0.06F
0.04F

0.02F

efticie

[y

107 1072 107t
AR(TP, jet)

Efficiency vs pu

500p——r—
o O VNN VO A
A A S R e e

...................................................

©
o
o
N
TTTTITTT]
K

TT T T T T T T

2 4 6 8 10 12 14 16 18 20
Pileup

o
o



	Contents
	Page 1


